EARAROBEEIERT — 2 N— IBISH —F

2018108170 (k) 15EIEME1A

m C3= #¥5%3®L (xwlw | lmEmml - |5 @) o 8
[AE4£] 1% :280,000 ™ ~ 23#%&:79,000  33&:39,000  437&:28,000H .~ 57&:22,000H
B ®RB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N = s 4 | MNEAF 1:35.9 6-6-32 |41.6| — 3 377 | EH¥ER (ER)
1 o | VXA -F 54.0 =) +3) #) 1- LN A
L7 R4 ¥A—-5 B:2bO0>renqr A AKX
s s o4 | EREE 1:36.2 2-1-1-1 | 42.7| — 2 451 | KBEE= (ER)
7l 3 KIES A 54.0 (1 3/2) 1) |8 A—AFNZ S
L:dr7—3UT7> B:I-Y2TIN—=FK B
OE: s 5 | TIihED 1:36.5 7-7-7-7 | 41.8| — 4 453 | EEZER (EA)
3|55 7VT X7 54.0 (1 3/2) 46 | B) SEAFASUE
R:Fh¥=7128 B:7714FILFZ AEXERE
Lo 4 6 | HAMER 1:36.6 5-5-5-4 | 42.4| — 5 40 |BEIKEA (EE)
4/8l9|LvY 5.0 g€ (45) ) I EATI5E
RHLFIN—F B:v—ILI 28— #E Em
S N K F 8 :36. -2-2- . — IOyE=E (T
5077 A—ZLA E— 4 8 24_0 (1739676) 1-2-2-2 | 43.0 7 :{;4) =
R:T7TaT74r—F71>T7 BNIVELMNT 1 NIVEL R T7—L
N S # 3 | AURE 1:37.0 4-4-3-5 |42.9| — 1 458 | AT (FEf)
6l7/8|F—AI¥3a—-7 56.0 @ 1/2) (=) | ) F#-x3
R:/TG1UXN B:F-—XINILA ®I -
o N 4 7 | HEE= 1:37.5 3-3-6-6 |43.4| — 6 48 | AEFIEX (ER)
7 4| ET/F v 54.0 3) (5) | 1) A —LFAZ pEE
L:v—NFIAY>F— BET7=Xb KERHS
= 5 s AT : -10-8- — BlEFIRE (EH)
8 6| 738y vFan H 8 b 1.(378).6 10-10-8-8 | 43.3 8 (5:139) */_ﬁ%
RixAavoyy B:wI74N7442 7975 TT -1
YD 4 5 | BEREHR 1:38.7 8-8-9-9 |43.6| — 9 433 | BERE (EH)
9l1[1|3FAF vV Ty Hx— ¥¢53.0 (7E) (1) | ) F—VHFNZ MEE
R:FHVRTIZRE BUSIVLR—L2 TADAS
3 N 4t 3 | MAES 1:39.8 9-9-10-10 | 44.1| — 10 | 472 |WOHE (FEh)
10l8l10| ¥ ¥ 37 . 54.0 ) (-3 |PEH—
L:hxexy B:TI140I0T Ak e
® 1—F—@EBIERL
1T=7r= 7,3,4,8,9,2,5,1,10,6
2a=5F= 3,7,4,8,9,2,5,1,10,6
Ja=5= 3,7,(2,8),9,4,5,6,1,10
43—+ — 3,(2,7),9,8,4,5,6,1,10
[ /N
B 2 930M 714K 2-3 420 e E 2-3 1,1408 JEE 2-3-5 2,120/
B B 2 210H 2=l 500M B = 2= 1,580 EE 2=3-5 13,780H
3 180H4 3-5 600 B H 2-3 3,470H
0 240M

ABICOVWTRDTEEERROODE. TR LIV,




